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AEHE ENEE =M h

Hu: 225D MR NSSATH (TP S/TI0)

CR: ANAHESIEEXMOIEAIA (CHol: &S1)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d5%-8 T = . 0l ko s2

= 352,500

403 XIXIHMS K20 A 1,057,500 225,000 832,500
= 705,000
& 352,500

01 ARS8 X 1,057,500 225,000 832,500
OLLENAX ZIIMEEEZ2 XM 1,057,500
= 705,000
& 352,500

F24 DIIMEISFEYZ =4 900,000 0 900,000
= 600,000
= 300,000

403 XIXIHHS K20 A 900,000 0 900,000
= 600,000
= 300,000

01 ARSI X 900,000 0 900,000
OFF2A ZIMMEESZE X4 900,000
= 600,000
& 300,000

AU 2OIMEfEE 2 X4 1,035,000 975,000 60,000
= 690,000
c 345,000

403 XIXIHHSAHE0|A 1,035,000 975,000 60,000
= 690,000
= 345,000

01 RIXISH =22 R 1,035,000 975,000 60,000
OH ZDMEEszZ =4 1,035,000
= 690,000
& 345,000

i =Xl ZIIMEI23IEeE T4 705,000 1,057,500 352,500
= 470,000
& 235,000

403 XEXISHHSAH=0|A 705,000 1,057,500 A352,500
= 470,000
c 235,000

01 XX SHH A =22 X 705,000 1,057,500 A 352,500
O X 2IMMEISSIEYZE =4 705,000
= 470,000
= 235,000

MoHST Z2IMMEEEZE X4 1,732,500 225,000 1,507,500
= 1,155,000
& 577,500

403 XIS S AH=0| ™ 1,732,500 225,000 1,507,500
= 1,155,000
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AR gAY SA =
HE: A2 MY NBAZS(BBES/X
o9l RIBZRHOIBAIL (el mg)
A= 2N - BB S9(S) - HISAY - BES il v dles HlDE2
Off &boH
CEENEENEY 255,600 360,000 104,400
403 XX HIS KH=OI & 255,600 360,000 £104,400
01 XS XH=2 = 255,600 360,000 A 104,400
OB EAl 4 255,600
7.9.~19. 2 Tioh SRM(SRAIL) 29,861 0 29,861
2 2,861
408 X RIS XH= 01 & 20,861 0 20,861
= 2,861
01 XHXISHRIRI =2 = 20,861 0 29,861
07.9.~19. 52 T SPAIRL(BRAIL) 29,861
2 29,861
HE QAN TAMEE SN 304,000 0 304,000
| 280,000
= 24,000
403 RHXISHHISXH201 & 304,000 0 304,000
| 280,000
= 24,000
BNER DTS 304,000 0 304,000
OFF ZAM TAMHS =AY 304,000
| 280,000
= 24,000
ROt AL MEH 2 2,100 3,000 £900
AFSsI® MIAMOILE &A 2,100 3,000 A900
307 212H01 2,100 3,000 A900
RIS PONETEES 2,100 3,000 2900
OXH 2S5 H2H0ILE &4 2,100
EREEEREE 4,549,768 5,728,644 A1,178,876
2 2,796,500
= 1,754,268
OFMSES TIoHUIZ AR (57h) 351,000 240,500 110,500
2 270,000
= 81,000
403 TR SIS KH= O & 351,000 240,500 110,500
2 270,000
= 81,000
01 XX SHXH=R = 351,000 240,500 110,500
OOHSZ TIGHOIAI (574 351,000
2 270,000
= 81,000
OHMES TR K 167,06 207,840 220,784
308 XHAISHAISOI R 167,06 207,840 220,784
BN ErEES) 167,06 207,840 £20,784




22422 SN BRFH
A0t MPAQY= NASATH(BEES/NH)
OriisssEsH 2l (SH9 H2)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
| Oomdses ma=a 12 167,056
Ord== ToHYX XA 269,112 299,014 A29,902
308 AXIHSOIA 269,112 299,014 A29,902
01 HXHHBAEES 269,112 299,014 A29,902
OO0rd=S= X X 269,112
Orlis=E X2eldy 29 XI& 515,667 500,000 15,667
= 154,700
= 360,967
308 AHXIHMSO0IA 515,667 500,000 15,667
= 154,700
=S 360,967
18 SIS0t 4 A A A 515,667 500,000 16,667
OSSR 2eldE 28 X 515,667
= 154,700
< 360,967
OriS=E X2ty X4l A 393,600 200,000 193,600
= 196,800
= 196,800
403 AXIEHHSAH=201H 393,600 200,000 193,600
= 196,800
= 196,800
02 SI12S0ItH et =& 2 €A I 393,600 200,000 193,600
O0tdsS= x2Ac|dH is= HFS
=P 300,000
= 150,000
== 150,000
OOrlis=E X2 |dE d=EH 7 93,600
= 46,800
= 46,800
OriSAE ESES 1,800 2,000 A200
202 04| 1,800 2,000 A200
01 =LHO LI 1,800 2,000 A200
OOt SAZ2SE8S 1,800
MAXIel 28012 X 46,933 66,000 A19,067
= 32,000
[ 14,933
308 AXIHSOIA 46,933 66,000 19,067
= 32,000
= 14,933
01 X SHHBAEXS 46,933 66,000 19,067
OAMAXI2l 2&D12 X~ 46,933
= 32,000
= 14,933
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hoH
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AXAY X2 (PS
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OFZ2|ItEHRILE HE A SEtel 2el)
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hoH
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22422 SN BRFH
A0t MPAQY= NASATH(BEES/NH)
OriisssEsH 2l EER=E)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
< 323,400
403 MR HMSAHE01H 1,401,400 967,590 433,810
= 1,078,000
= 323,400
01 AXIEHM A= 2 £ 1,401,400 967,590 433,810
OxtetEErel &l 1,401,400
= 1,078,000
= 323,400
?PEEBPEHN%E'? UHSA (A ZHS L HALH HMeldl 520,000 520,000 0
= 400,000
< 120,000
308 AHAIEMSOIE 520,000 520,000 0
= 400,000
= 120,000
01 HAHHBLEXRS 520,000 520,000 0
OAEXF & HAK Xclsl 520,000
= 400,000
= 120,000
o 2o & HOIS 22l2E 13,118,386 20,927,811 A7,809,425
= 4,602,200
Il 4,235,950
= 4,280,236
d=gd molsael 2,002,117 4,408,436 22,316,319
= 347,200
Il 512,200
S 1,282,717
sABIIF =HEA(US) 179,037 156,476 22,561
308 XtXIEMSO0IE 179,037 156,476 22,561
18 SIS0t & A AS A 179,037 156,476 22,561
OsABIIT =HEH(UE) 179,037
sfelg s HE EXIXAANY 18,000 30,000 A12,000
403 AXIEHMSA=0ld 18,000 30,000 A12,000
01 MHXIHH A 222 18,000 30,000 A12,000
sofElE= NS EXIXEA 18,000
SZMHHIY =HEd=S 779,380 870,960 A\91,580
Jl 410,200
= 369,180
308 XtXIEMSO0IE 779,380 870,960 A\91,580
J| 410,200
=S 369,180
01 XN B2 LS 779,380 870,960 291,580
SEMHIE =HEd= 779,380




= L= A SBEHL
I A9 2o & HIIZ 2elds
el A= o2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
pJ 410,200
< 369, 180
SSdoty #EXH 102,000 114,000 212,000
Jl 102,000
403 THXI M SAH=01H 102,000 114,000 12,000
pJ 102,000
01 AXEMA2E = 102,000 114,000 12,000
OsZHtld ssdotd &3 102,000
) 102,000
IsHDI= =1 - Mel ANZA 210,000 300,000 A90,000
308 AXIHS0IA 210,000 300,000 £90,000
01 HRHHBSEELS 210,000 300,000 A90,000
OYsHIIZ +H - Ml XA 210,000
ShEGH? MeD] ZSAS(S2E) 171,500 203,000 231,500
= 171,500
308 AHXIEMSOIE 171,500 203,000 A31,500
= 171,500
01 RSN EES 171,500 203,000 A31,500
OotaEsH Aei0] FHetAr (2 2E) 171,500
= 171,500
ShEGH? MeD] ZSAIS(RFH) 70,700 116,000 45,300
= 70,700
308 AXIHS0IA 70,700 116,000 145,300
= 70,700
01 AXHNBEES 70,700 116,000 245,300
OttaE s Aoi0] FHetAr (’FF) 70,700
= 70,700
LR[S GG ZSHALY 13,000 13,000
308 XXM SOIA 13,000 13,000
07 Xt RS2 13,000 13,000
O=3d=4 otdol+ At 13,000
=g (Hes) Sdstitd 383,500 550,000 A 166,500
308 AXIHSOIA 383,500 0 383,500
01 XN BSELES 383,500 0 383,500
O &= (MHES) 243t 383,500
CI3l 01 MALE STALY 157,500 1,500,000 21,342,500
= 105,000
== 52,500
308 XXM SOIA 157,500 1,500,000 A 1,342,500
= 105,000
< 52,500
01 RSN EES 157,500 1,500,000 A 1,342,500




A= BENMESR A 2BEHL
M e 2o & ol 22H st
el A= o2 EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
OU2EI| MALE FTALY 157,500
= 105,000
< 52,500
St=HDISES ¢l 7,500 7,500
201 fer= 3| 7,500 7,500
2 3522l 7,500 7,500
Oet=HII=g2 Halb| 7,500
PDISXeALE &5 11,026,269 16,519,375 N5,493,106
= 4,255,000
Jl 3,723,750
< 3,047,519
OHEIAIE &X 338,200 3,718,300 3,380, 100
= 199,000
< 139,200
403 TR SHMSAH=01H 338,200 3,718,300 3,380, 100
= 199,000
< 139,200
01 AXSHMA2EE 338,200 3,718,300 3,380, 100
Otz MEHD|IZ HAIZ (2SH) EXIAL
& 338,200
= 199,000
[ 139,200
A2TAIE AX 5,719,300 5,126,700 592,600
= 3,607,000
< 2,112,300
403 XIS AH=01H 5,719,300 5,126,700 592,600
= 3,607,000
< 2,112,300
01 AR A =2 £ 5,719,300 5,126,700 592,600
OFFAl HEHDIS A2AE SEMY 2,291,500
= 1,348,000
< 943,500
OMEAl MEHIIES A2AAE SEMY 1,577,500
= 928,000
< 649,500
OXESE ZAHIIZ2 ~2XelAE SEA
& 1,340,300
= 1,031,000
< 309,300
O=dZ MEHIIE A2AE EXIMY 510,000
= 300,000
[ 210,000
ANez|s=dE &5 1,887,000 4,451,200 A2,564,200




=0 sdaela SN BAIYD
M e Zor & HoIZE 228t
©ol HIIZSH2IAY 25 CERE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
| 1,110,000
= 777,000
403 XX SHHS K201 1,887,000 4,451,200 A2,564,200
| 1,110,000
= 777,000
01 AtXIEtHAH22 £ 1,887,000 4,451,200 A2,564,200
OF Al HETAS|IHEH EXAHY 459,000
| 270,000
& 189,000
OFEFA =F HEE8 dEAIE MASAY 816,000
| 480,000
& 336,000
OSFAl HEELEAL ASEAY 612,000
| 360,000
= 252,000
ZEd HUEHXIEIR2 24 At 449,000 1,024,000 A575,000
= 449,000
403 XX S MSKHE01 ™ 449,000 1,024,000 A575,000
= 449,000
01 MtXIEtHAH22 = 449,000 1,024,000 A575,000
Otttz ZSZUUKIEI2 ZEAIY 449,000
= 449,000
FRIISHAHE S& Hi0ILItASIAIE &I 2,632,769 1,722,175 910,5%4
| 2,613,750
& 19,019
403 XIS MS 201 2,632,769 1,722,175 910,5%4
| 2,613,750
& 19,019
01 XXt A2 = 2,632,769 1,722,175 910,54
O&EFAl RIIEHAR S& BIOIR2IMASHA
& 4X 2,632,769
| 2,613,750
& 19,019
HHY A A (SHE ) 72,309 79,527 AT7,218
Jl23&l 72,309 79,527 AT7,218
JlE2Zl 72,309 79,527 ANT,218
201 LBr2| 16,779 18,627 A1,848
01 ArR22ltl 16,779 18,627 A 1,848
OJlz=+=&H| 6,846
OJ12=gH| 9,933
202 04d| 32,130 35,700 A3,570
01 =LHO4 L] 32,130 35,700 A3,570
OJ1=204H| 32,130
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A= BFuE= SA 0 1=
3 RREBIIEE & X220l
=Rl DR s & HS (SH9 H2)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
) 200,000
< 200,000
307 e12+0ld 400,000 400,000 0
2l 200,000
< 200,000
02 LB HAHE X 400,000 400,000 0
OSEST BASEANHHH =282 400,000
Jl 200,000
< 200,000
BASEANALE 2SR (AZ) 100,000 100,000 0
2l 100,000
308 AXIHMSOIA 100,000 100,000 0
Jl 100,000
01 MASHHBLExS 100,000 100,000 0
OB2~SEAAHE 2SS 100,000
) 100,000
J=H3 FAHS X2AL 1,260,000 200,000 1,060,000
2l 1,260,000
403 MXIHHSH20IE 1,260,000 200,000 1,060,000
Jl 1,260,000
01 REXIEHRIAt 2 2 2 1,260,000 200,000 1,060,000
OJI=8s HYAS - NS A& 1,260,000
2l 1,260,000
OISR M2 126,280,293 141,401,024 15,120,731
= 105,858, 166
< 20,422,127
A XSXE PO 41,318,000 42,195,400 AB77,400
= 37,250,000
< 4,068,000
403 MR HHMSAHE01H 41,318,000 42,195,400 AB77,400
= 37,250,000
< 4,068,000
01 RIXIEHHIXtE 2 E 41,318,000 42,195,400 AB77,400
O=x=AXtSi T0HKIH 41,318,000
= 37,250,000
< 4,068,000
SHAFII BHEIL H2A 18,345,806 29,528,875 A11,183,069
= 14,297,420
< 4,048,386
308 XXM SO0l 18,345,806 29,173,975 110,828, 169
= 14,297,420
< 4,048,386
01 AN BSEES 18,345,806 29,173,975 10,828, 169

=
I




A IS

&2l OIAISA M (CH9: &S1)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2

OLZEKA 2D HXAIE K& 14,461,161
= 11,123,970
< 3,337,191
O2¢x M=o =X XI& 929,565
= 715,050
& 214,515
OAHEI|H MBoH =X X 2,955,080
= 2,458,400
= 496,680

EE012t BUEX 45K 22 46,364 45,207 1,157
= 35,666
= 10,698

308 AXIHHSOIA 46,364 45,207 1,157
= 35,666
& 10,698

01 JXISHMBAEES 46,364 45,207 1,157
HED12F JUEX S| 22 46,364
= 35,666
& 10,698

rSPIPN=pN I DN 64,682,600 67,126,400 N2,443,800
= 52,827,000
o= 11,855,600

403 RXISHHSKH=0| A 64,682,600 67,126,400 N2,443,800
= 52,827,000
= 11,855,600

01 XIXISH 22 R 64,682,600 67,126,400 N2,443,800
QWIS KE F0HAIRA 64,682,600
= 52,827,000
& 11,855,600

HII0IZE X ES A 328,800 440,000 A 111,200
= 328,800

403 XIXIHXMS K20 A 328,800 440,000 A 111,200
= 328,800

01 RIXISHA2E X 328,800 440,000 A 111,200
OHEII0IZEX ES ALY 328,800
= 328,800

20| S& X KA 100,750 441,350 340,600
= 77,500
c 23,250

403 XIXIHHSAHE0|A 100,750 441,350 340,600
= 77,500
= 23,250

01 AXISHHMAE2 X 100,750 441,350 340,600




A= BFuE= A =0
B PREDI|IHD U P20l
&2l OIMSX M EER=E)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
OO0 el0l Setxte LPGRH &2t XA 100,750
= 77,500
== 23,250
CESMHBIMHIT HZA 200,000 100,000 100,000
= 200,000
403 X SHHMSAH=01H 200,000 100,000 100,000
= 200,000
01 XA =2 E 200,000 100,000 100,000
OZZMHIMEIK HAAY(T2E HAX
TeH BX) 200,000
= 200,000
IHEE NsAE2e ESAME 269,136 1,030,464 AT761,328
= 224,280
= 44,856
403 MXIEHMS X201 269,136 1,030,464 AT61,328
= 224,280
=S 44,856
01 AXISHHA =2 & 269,136 1,030,464 AT761,328
OEE MN=AEB2e ESME 269,136
= 224,280
< 44,856
NAM DO12B=32 EX - 28 258,750 112,500 146,250
= 172,500
= 86,250
403 XIS =201 258,750 112,500 146,250
= 172,500
= 86,250
01 AXISHHA=2EE 258,750 112,500 146,250
OZAIIIEE A WA 258,750
= 172,500
s 86,250
NSt 2eHe HSAAE 29 87,087 48,328 38,759
= 25,000
== 62,087
201 ger=3| 54,587 48,328 6,259
02 S3=gHl 54,587 48,328 6,259
O=2dgHe HEAMAE SMRsS 3,120
OXSxt 2eHst SSEAAY RAE4 51,467
403 X SHHMSAH=01H 32,500 0 32,500
= 25,000
== 7,500
01 XXIEHIX= 32,500 0 32,500
OXSAt 2gMiet Sl FIHEX 32,500




Atz EAM © JI=02I|

JJH;E%J-E—DIQE'_ 2 XFStsueY
OINIRX M2 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
= 25,000
= 7,500
OIMIHAl HIZ2D| Z23 2 85,000 121,500 236,500
307 QI2Hol M 85,000 121,500 236,500
02 QIRHHAAIHE X 85,000 121,500 36,500
OO0IMISX HtZ22D| 2208 2 85,000
OIMIHXl £010] HER 23 66,000 94,000 228,000
307 gIzHol ™ 66,000 4,000 228,000
02 SIZHBAAIHE X 66,000 94,000 228,000
OO0IMIgtX £010] HERl 2= 66,000
=aNESX SHelZet 25 492,000 0 492,000
= 420,000
& 72,000
403 XtXISMSKHE01 A 492,000 0 492,000
= 420,000
& 72,000
01 XIXISH A= E X 492,000 0 492,000
O==2Xsi SdeZet 15 492,000
= 420,000
& 72,000
o2t i 3,190,585 6,767,068 A3,576,483
= 2,434,3%
& 756,189
SNUHsSSEHID| 222/l XA 174,800 214,329 239,529
= 152,000
& 22,800
308 KEXIHMSOIH 174,800 214,329 239,529
= 152,000
& 22,800
01 IXSHHBAEES 174,800 214,329 A39,529
O=sHs=E010| 29228l XIJ 174,800
= 152,000
& 22,800
=ENSEEID| 22| K& 132,705 216,979 NB4,274
= 115,3%
& 17,309
308 REXISHMSOIH 132,705 216,979 AB4,274
= 115,3%
= 17,309
01 AXIEH B LAEXS 132,705 216,979 NB4,274
Ox=&Ns=EI|D| 2228l XI& 132,705
= 115,3%6
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JI=CHO |2t

g DH%@E—?QE o XR2LShoe
el toletE oe (SH9 H2)
A= 24 - 3. SRA(3H) - MIRAY - Bd Off &4 OE:IEF% HusZ
| & 17,309
otAGED HHE)| HHEItA HZE X X3 329,840 162,120 167,720
= 266,000
= 63,840
403 AXIEHHSAH=0lH 329,840 162,120 167,720
= 266,000
S 63,840
01 AXESM A 2EE 329,840 162,120 167,720
OJASHEI HLtgt)| HHEIIA M2 AR
A& 329,840
= 266,000
[ 63,840
A2 EAEE XA X1 K& 630,000 644,400 A14,400
= 350,000
== 280,000
402 SI2EXH=201 S 630,000 644,400 A14,400
= 350,000
S 280,000
02 QI X2 AL EE(OIHTHE) 630,000 644,400 A14,400
OAAR2AIEE SXAIE EXIXE 630,000
= 350,000
S 280,000
AR EASE LXAE "X XE(AZ) 1,923,240 5,350,440 N3,427,200
= 1,551,000
= 372,240
403 NI S =01 1,923,240 5,350,440 A3,427,200
= 1,551,000
= 372,240
01 XISt AH22 £ 1,923,240 5,350,440 A3,427,200
OATEARE XAIE EXKA 1,923,240
= 1,551,000
S 372,240
MEEH M 8,718,172 7,641,400 1,076,772
= 280,636
= 5,863,000
S 2,574,536
SHIIGH 2R (US) 20,000 20,000 0
301 LENZ 20,000 20,000
02 MBI 2HHSFHS(HAANS, XLHE) 20,000 20,000
OAHIIoH P (THS) 20,000
Sd0IE Mel - HE X 7,621,900 7,459,400 162,500
Fas 5,863,000
= 1,758,900
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SHAE= A ¢ IOt
RetBI|&E & XNF22H3H0 2
SUALNNEHZ 23 EER=E)
2 - IE
CRA - EHH . G(SH) - NRAY - BAS e HimE=T
01 AtR2telt] 12,472 1,372
OUILIE=E MaF=E
OXE&EH et &l 7
202 04d| 2,300 A230
01 =ZLHOdH] 2,300 2230
Ol e8s83
HEGAII=XE 56,000 A17,000
308 AHXIHMSOIH 56,000 A17,000
13 I 2SO E &R 2E AL 56,000 217,000
OtisEga JisXle
BEAED MNBAZ 1,000 A100
301 LPBENZ 1,000 A100
14 J|EI2 A3 1,000 A100
OZA20 MIBAZ
CHOl 2 =& ™S XN&=&EH 2,300 A230
202 04d| 2,300 A230
01 =ZLHOdH] 2,300 2230
ool ¢ =& NEedH
oIRtets EEMD| S3XZ0| K& 10,000 A1,000
301 LetEHZ 10,000 21,000
14 J|EI2 43 10,000 A1,000
Oglztgts FEUD| 3 XIZ0|
OIMHX SHHE G2 Al XA (4 905,000 44,000
rag
308 AXIEHMSOIN 905,000 44,000
s
01 AIXISHHBAEES 905,000 44,000
OOIMIZX SEUE olZ2Al XIAAS(Z
&)
g
H LI 95,846 A 10,405
Rl 95,846 A10,405
=344l 95,846 210,405
201 B2 AL| 51,646 A4,455
01 AtR2elt] 23,062 A1,167
OJ12=+=2H|
OJl2=&l
Ofo1Zdl 84
02 S=29| 28,584 A3,288
o®IIZ
O =tz
O&I|ere 2|2




AR BAMEZ
M HHS2HAH|(JIZCHIID)
Ctel: J|=dH]

A IS

A 2A - B . HA(SH) - HIRAIY - BES (1;| Palgely %E% Hlwsz
Os&J| RANE= 2,400
O&ote=E AIBE 2.400
202 O4H| 38,250 44,200 AB,950
01 =LHOdH] 38,250 44,200 A5,950
OJ1204d| 38,250
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H & 0l & AHS B Ml A

0248 =0ila eS| StEaE= 2024-02-02 09:56:57

AR BAMYR SA  aXAB2| D
M o2 20| UXs #=E &S
CPll BB AHB2IZ WRE AN B (SHol: )
AR RA - ZB . B(S) - MRAY - B Ofl by A HnS2
ape 22 ot 390,258,773 321,206,922 69,051,851
= 243,448,518
2 50,885,000
I 7,645,090
= 88,280, 165
o2 20| Gxs #= &2 387,945, 148 318,717,634 69,227,514
= 243,448,518
2 50,885,000
p] 7,645,090
= 85,966,540
S0l AHBIZ WRE AN &Y 6,420,740 5,638,040 782,700
= 2,893,000
p 472,090
= 3,055,650
z= 213 1Y 28,000 40,000 A12,000
307 2I2H0| A 28,000 40,000 A12,000
02 QABAAA ST 28,000 40,000 A12,000
Oz% 21 X 28,000
2227 JI22gA| 10,000 10,000 0
I 10,000
201 Ypt2oy| 500 0 500
p] 500
01 Al222lH] 500 0 500
024 JIZAY TR XX 500
p 500
202 O4H| 9,500 10,000 A500
y) 9,500
01 2o 5,000 5,500 A500
O2L4H JIZAIYZR YREW 5,000
| 5,000
03 222201 4,500 4,500 0
O+ Ko HEAZA 4,500
p] 4,500
U2 FoAX A 7,000 5,400 1,600
p 7,000
202 04| 7,000 5,400 1,600
y) 7,000
01 2o 7,000 5,400 1,600
0243 ZoNAAIY =7 7,000
p] 7,000
s2tad JI22g 2| 18,750 19,000 250
p 18,750
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A= BHEMES 2A A& 2ke| ot
33 g2 =0l EXl= d=58t 85
o9l B0 AXR2R WRE 2N 2 (69 =)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
202 01t 1,000 1,000 0
Jl 1,000
01 SLHo4HI 1,000 1,000 0
Oxgols ZAst| 1,000
D) 1,000
S5 NHAEsH 29 16,000 15,000 1,000
Il 16,000
201 Let=E] 14,900 13,900 1,000
Jl 14,900
01 Al 2telHl 3,600 600 3,000
Oll=H| 600
7l 600
Ogegt+=EHI 3,000
Jl 3,000
2 55234l 11,300 13,300 A2,000
OAE&BISXIEl, Atefdstd] 11,300
Il 11,300
202 Ot 1,100 1,100 0
) 1,100
01 SLHoIH 1,100 1,100 0
Oxgols ZAIZSt| 1,100
Jl 1,100
s NAEsH 9Kl dAxd 366,000 0 366,000
D) 356,000
401 AIE2BIXL S THYI 356,000 0 356,000
Jl 366,000
01 Al&ZHI 356,000 0 356,000
O&Fs NoE2sd Al dAxd 356,000
Il 366,000
HE2E8A HZAL 3,562,150 2,471,000 1,081,150
= 2,893,000
s 659,150
403 MXISHHSZ01H 3,562,150 2,471,000 1,081,150
= 2,893,000
= 659,150
01 AXISHHA= 2L 3,562,150 2,471,000 1,081,150
OHIEL2EE NZAL 3,562,150
= 2,893,000
& 659, 150
MEHSHE SRAIS (HEALY) 2,340,500 1,376,500 964,000
403 AXIEHHSAH=201d 2,340,500 1,376,500 964,000
01 RAXISM A =2 = 2,340,500 1,376,500 964,000
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a2 A3 SN SRz
M oS 20| YXls w=s ==
©Rl: 2ENO AHBRIZ WRE AN H2 (crel )
AZ - 2N - FH -GS - HIRAY - BYS Ofl ko4 A HlmE2
|| Oueis = 2,340,500
N£IHs8 Xsks 22l 2 4,800 5,100 A500
sz Sa 4,800 5,100 AB00
202 048 4,000 4,500 AB00
01 =LH04 4,000 4,500 A500
Ooisug =% 4,000
206 MZHl 600 600
01 M=ztl 600 600
Ool=ME SENE S+ 600
Ol 2501 Bt=Rote otAEt 2 B2 115,156,287 107,659,494 7,436,793
= 1,761,778
z 50,885,000
Jl 7,173,000
= 55,336,509
SOIEMEES NPA(HeA) 23,205,000 20,616,5% 2,508,406
408 XHXI SIS K201 23,205,000 20,616,5% 2,568,406
01 RIXIEHRIA 2 2 2 23,205,000 20,616,594 2,588,406
SOEMEES YA 23,205,000
AT AIE HSAL (D EAL) 1,810,000 1,810,000 0
403 RXIHMSA=01H 1,810,000 1,810,000
01 RXIEHMIAt 2 2 2 1,810,000 1,810,000
OARIHTAIE JHEA 1,810,000
Ngat =S UBA 61,528,000 61,158,800 369,200
fas 50,885,000
= 10,643,000
403 MXISHHS 201N 61,528,000 61,158,800 369,200
fas 50,885,000
= 10,643,000
01 HXIHHA 22 61,528,000 61,158,800 369,200
OXlgat=SHHSA 61,528,000
= 50,885,000
= 10,643,000
ZEO D N AL (HEALY) 4,496,900 4,345,000 151,900
403 MXISHHSAH=01H 4,496,900 4,345,000 151,900
01 KXIEHH =R 4,496,900 4,345,000 151,900
OO DN 4,496,900
e HaSSL PSA(HEAIY) 14,721,319 8,632,200 6,089,119
403 MXISHHS 201N 14,721,319 8,632,200 6,089,119
01 AXISHHA 22 % 14,721,319 8,632,200 6,089,119
OXNga+E flas3Y FEAY 14,721,319
29 Hes 2HAAY 7,173,000 7,710,000 A537,000
Il 7,173,000
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A= SN SN AR
Hu: g2 20| EXs = 55
SI9l: T8I DS} BIEGHE oM 2 B2 (Shol: % 2)
AR RA - ZB . B(S) - MRAY - B Ofl by A HnS2
403 RXISHHI SKH20I & 7,173,000 7,710,000 537,000
| 7,173,000
01 XXISHAIRI =2 = 7,173,000 7,710,000 537,000
OLSRS A2 SEHLA 7,173,000
| 7,173,000
LAY FA 7,590 8,200 2610
201 B2t 6,390 7,000 2610
01 AL 22| 5,390 6,000 2610
Oer a4 5,390
2 ZT2H| 1,000 1,000 0
Ot =4oH4+E B3t 1,000
203 YL FXH| 1,200 1,200
RPEESSIEEE 1,200 1,200
O XA YL AL EX 1,200
HAE ABMS DS PEA 2,048,700 3,378,700 1,330,000
= 1,696,000
= 462,700
403 RXISHHIS KH=01 & 2,048,700 3,378,700 1,330,000
= 1,696,000
= 462,700
01 RXISHH =2 E 2,048,700 3,378,700 1,330,000
OF+E LHME HSHH 25 2,048,700
2 1,696,000
= 462,700
7.9~19. 52 Doh SPAIL(M4E) 165,778 0 165,778
= 165,778
403 RXIEHHIS KH= 01 & 165,778 0 165,778
2 165.778
01 XX SR =2 = 165,778 0 165,778
07.9.~19. 52 L3 SPAR(A2T) 165,778
= 165,778
SIETAA HEOZ HNE MEBHE T4 266,013,521 205,415,000 60,5%8,521
= 238,798,740
= 27,219,781
StaxielE &x 123,646,000 110,697,000 12,949,000
= 108, 146,000
= 16,500,000
403 KX SHHIS XHZOI & 123,646,000 110,697,000 12,949,000
= 108, 146,000
= 16,500,000
01 XX Z 2 123,646,000 110,697,000 2,949,000
Ost+HelE &5 52, 163,000




BE A= A - =XE e
92 20| UXle =6t 5=
Sl Al EE02 IjNs MEsHd Y (CH9: &S1)
12 2A - 33 - SA(3]) - HIRAY - BES (1;| Palgely OE:IE:'% Hlwsz
= 40,903,000
T 11,260,000
O=s0&E0t=S5t=S 3| 71,483,000
= 67,243,000
[ 4,240,000
ot=2tE JH| 106,037,000 52,676,000 53,361,000
= 95,887,000
& 10, 150,000
403 REXISHHS K201 & 106,037,000 52,676,000 53,361,000
= 95,837,000
T 10, 150,000
01 AIXISHHRE2EX 106,037,000 52,676,000 53,361,000
Odt=22 | 50,238,000
= 45,923,000
T 4,315,000
OEANE=US 55,799,000
= 49,9%4,000
& 5,835,000
ot-Z=FH| BILY U= 26,664,000 26,092,000 572,000
= 25,459,000
T 1,205,000
403 XX SHHSKHE01 A 26,664,000 26,092,000 572,000
= 25,459,000
T 1,205,000
01 MXISHAE2EE 26,664,000 26,092,000 572,000
Odt=22 34| BTLAUHZE 26,664,000
= 25,459,000
[ 1,205,000
SRSt & & 1,968,000 664,000 1,304,000
= 1,635,000
& 333,000
403 RtXISHHMSKHE01H 1,968,000 664,000 1,304,000
= 1,635,000
T 333,000
01 IXISHHE2EX 1,968,000 664,000 1,304,000
Ogestsxel & &X 1,968,000
= 1,635,000
[ 333,000
7.9.~19. 52 Tloll SP2AIE(t+%) 7,091,515 0 7,091,515
= 7,059,734
& 31,781
403 REXISHHIS K201 & 7,091,515 0 7,091,515
= 7,059,734
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A= SNy SN SRR

33 N2

=l WRAAXE EER=E)

AR RA - F - O(BIH) - NRAY - BES ol &b o4 A timE=FT
Heegs(=xtazel) 1,675,400 1,697,013 A21,613
UW=HeHXIE 1,675,400 1,697,013 N21,613
WRHehXI= 1,675,400 1,697,013 ~21,613
701 JIEHRIASEES 1,675,400 1,697,013 ~21,613
01 JIEtal AN ES 1,675,400 1,697,013 ~21,613

OXS A EH S8 dE= 1,675,400
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22422 SA A=
dHE AENEEY
HeIEs EERE)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
207 ARl 100,000 0 100,000
= 40,000
== 60,000
02 MAHHEHI 100,000 0 100,000
Odr=0e ICT 2SE 25 100,000
= 40,000
& 60,000
403 AXIEHHSAH=201H 215,308 324,522 109,214
= 148,488
= 66,820
01 AR A =2 £ 215,308 324,522 109,214
OLEASIAIE 179,638
= 123,888
s 55,750
OLt=2AsIAIE RAIES 24,070
= 16,600
S 7,470
Ot ZAIAIE 11,600
= 8,000
= 3,600
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= 260,000
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01 ML ESF SHI 650,000 0 650,000
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< 60,480
Otttz A SHE 44,109
= 30,420
= 13,689
ORERAIL(SAHIIX=) 11,600
= 8,000
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AR BFMRR A ARSI
M FMY MRNASS
Rl MEEEES (SH9 H2)
A= 2A - 3. SR(3) - MIRAY - BES Ofl &rod Oaﬁg% Hlw =2
| odgasg gr2S 9,960
WSR2 BSE=(XIY) 6,270 7,398 A1,128
= 5,544
< 726
308 XHXIEHHISOIE 6,270 7,398 A1,128
= 5,544
== 726
01 MXISHHZAEES 6,270 7,398 A1,128
OUEHZt 2SS (XIY) 6,270
= 5,544
== 726
SR BSES(RE) 2,213 2,610 A397
2 1,540
[ 673
202 01t 2,213 2,610 A397
= 1,540
= 673
NETCE 2,213 2,610 A397
OUEH2 ESES(RE) 2,213
= 1,540
= 673
WSR2 F=OIXIRIAY 638,435 671,160 AB2,725
2 638,435
403 REXI SHHI SKH20I A 638,435 671,160 AB2,725
= 638,435
01 RXISHHIRt2 2= 638,435 671,160 AB2,725
OWSOHZ FUXI ALY 638,435
2 638,435
HR2 A= AFY 1,548,400 995,400 553,000
2 1,372,000
[ 176,400
403 REXISHHI S KH20I & 1,548,400 995,400 553,000
= 1,872,000
[ 176,400
01 REXIEHHIRH2 2 = 1,548,400 995,400 553,000
OURZ A=A Al 1,548,400
= 1,872,000
== 176,400
ARIMEN SR ALY 426,127 0 426,127
2 377,581
[ 48,546
403 REXISHHI S RH 01X 426,127 0 426,127
2 377,581




A= BENER A AE=XI
M ZNE MRS
Rl MEEEES (SH9 H2)
42N BY . GABH) - HRAY - BES ol &t A HIDS
[ 48,546
01 MXIHHA 22 426,127 0 426,127
OLIEUE=SE AL 426,127
= 377,581
= 48,546
WEH2H(F W) MEH=s =2 986,371 0 986,371
= 874,000
& 112,371
403 AXIEHMSAH=0lH 986,371 0 986,371
= 874,000
[ 112,371
01 XA 22 % 986,371 0 986,371
OUSHHEN) dHs 52 986,371
= 874,000
< 112,371
2S+3HIAY 70,583 77,760 AT ATT
308 AFAIEHMSOIE 70,583 77,760 AT ATT
01 RSN EES 70,583 77,760 NTATT
2SS0 70,583
ARSI AHIAZ0F Q1S H| 29,079 21,000 8,079
= 29,079
308 AFAIEHMSOIE 29,079 21,000 8,079
= 29,079
01 XN B2 LS 29,079 21,000 8,079
OAt2| AHIAZ0F Q1| 29,079
= 29,079
LotH S Xl 586,363 568,036 28,327
= 467,180
[ 119,183
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= 467,180
[ 119,183
01 X SHHBAEXS 586,363 558,036 28,327
Oggtgolls Xl 586,363
= 467,180
= 119,183
2URMAEE SHl 836,309 798,983 37,326
= 768,585
& 67,724
308 AXIMSOIA 836,309 798,983 37,326
= 768,585
< 67,724
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2 768,585
= 67,724
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308 XXIEHH SOI & 833,202 815,503 17,699
2 640,924
= 192,278
Of HXSHBLEES 833,202 815,503 17,699
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2 640,924
= 192,278
SRS YHIH 7Y 20,452 20,452 0
2 15,731
= 4,721
403 XHXI EHAI S K201 & 20,452 20,452 0
2 16,731
= 4,721
O IXSH =2 X 20,452 20,452 0
OMHONE SHIH 7L 20,452
2 16,731
= 4,721
AUSTHESY ol ZEAE 60,630 67,370 26,740
308 XHAISHAISOIH 60,630 67,370 26,740
O KX SHBAEES 60,630 67,370 26,740
OAUSTHAESE K ZTAR 60,630
Q=T AE 2L (RE) 47,500 0 47,500
2 33,250
= 14,250
201 Zer2 ] 47,500 0 47,500
2 33,250
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AR BHAEYR SA MRS
M AHY MRANASH
Eelr AFEARES EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
403 XIXIHHSAH=0|A 13,480,784 18,480,830 A5,000,046
= 10,369,840
< 3,110,944
01 RIXISH A2 R 13,480,784 18,480,830 A5,000,046
O IR 13,480,784
= 10,369,840
= 3,110,944
=I 0| KFREZAFEH(KIS) 333,830 343,602 N9, 772
= 259,100
& 74,730
308 AXIHHSOIA 333,830 343,602 N9, 772
= 259,100
= 74,730
01 AIXHAMBAEEXZ 333,830 343,602 N9, 772
O= IR XA (XIL) 333,830
= 259,100
= 74,730
2R D] 819,702 1,348,695 /528,993
J| 630,540
& 189, 162
403 XIS IS AH=0|™ 819,702 1,348,695 A528,993
J| 630,540
& 189, 162
01 RIXISH A= E R 819,702 1,348,695 528,993
O3EIRI] 819,702
J| 630,540
o= 189, 162
=IIRI|HESE 895, 125 834,413 10,712
= 693,750
& 201,375
308 AXIHHMSOIA 895,125 884,413 10,712
= 693,750
& 201,375
01 AEXSHHEAMERZS 895,125 884,413 10,712
=) IHES 895,125
= 693,750
= 201,375
=MIZ Uss Usd =4 900,000 1,060,000 A 160,000
J| 900,000
403 XHXIE IS AH=0I™ 900,000 1,060,000 A 160,000
J| 900,000
01 RIXISH 22 R 900,000 1,060,000 A 160,000
O=sMI2 Usslsd &4 900,000




NEH- = IR A Al2f
H: AN MAXARY
Eelr AFEARES EER=E)
4= - BN - Y- HRAEH) - NRAY - BES Off &kY ﬁg% Hns2
| | 900,000
SRIMBIAZ20I(ZAISXIR2IR) (HEA) 186,178 151,489 34,689
308 XHXI M S0IH 186,178 151,489 34,689
01 IXSHB4EES 186,178 151,489 34,689
OMRIAHIAZ L0 (ZAISKIZ2I) 186,178
ARIMHIAZ201(BAEDCIUI0IH) (HEA) 46,545 45,447 1,098
308 XHXISHHISO0IH 48,545 45,447 1,098
P ONI=N PN ES= 46,545 45,447 1,098
Ot MBI A=20I(He= 2OUI0IH) 46,545
SAbIEZE T 5,850,000 3,900,000 1,950,000
= 4,500,000
= 1,350,000
403 XEXISHAI S XH20 5,850,000 3,900,000 1,950,000
= 4,500,000
= 1,350,000
01 XM XEEE 5,850,000 3,900,000 1,950,000
OZAlBt22E =4 5,850,000
= 4,500,000
= 1,350,000
JEHE ZAE =4 9,425,000 9,100,000 325,000
pJ 7,250,000
[ 2,175,000
403 XIS SKH=01 9,425,000 9,100,000 325,000
pJ 7,250,000
= 2,175,000
01 RXISHH RS 9,425,000 9,100,000 325,000
OJIZ208 TAE =4 9,425,000
| 7,250,000
= 2,175,000
TAlE TS (M) 1,046,300 976,500 69,800
403 XM S XH=01 & 1,046,300 976,500 69,800
01 MRS A= 2 E 1,046,300 976,500 69,800
OZAE =4 1,046,300
NSHP T (HEA) 1,950,000 2,730,000 780,000
403 XM S XH201 & 1,950,000 2,730,000 780,000
01 XM =EX 1,950,000 2,730,000 /780,000
Oxgaz x4 1,950,000
SRIAIY EOIRIR ¢ 3,000 3,000 0
201 Yer2 | 3,000 3,000
01 AtR2relt| 3,000 3,000
OARIAIY BIISIR ¢ 3,000
L2t2 2335 |4 X 21,985 22,975 A9
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SHEAatE = Xl Bt
2R MRS
aerasd (EHol: &9)
2. 24 BB . O (30) - NIRAY - BYS A e
201 Let2AY| 5,075 5,075
01 A22teld| 350 350
OoLietz2 223 SZ(EAS 350
03 A2 4,725 4,725 0
oLt 223 SE(EAI) 4,725
303 EA= 1,000 1,000
01 A= 1,000 1,000
OouetZ 223 SE(HAI 1,000
403 REXIHMS K201 15,910 16,900 A90
01 XX SHH A =2E2 X 15,910 16,900 990
oLt 223 =24 ¥ £ 15,910
2Isss =4 65,000 130,000 65,000
= 50,000
= 15,000
403 REXISHHIS K201 & 65,000 130,000 65,000
= 50,000
& 15,000
01 AXISHXMA2E X 65,000 130,000 65,000
OR=stsdt =4 65,000
= 50,000
& 15,000
HE MEFACT] 29 560,000 560,000 0
= 466,667
T 93,333
403 RIXIHMSK=0|H 560,000 560,000 0
= 466,667
= 93,333
01 AEXI XA 22X 560,000 560,000 0
O AEEIGHI 29 560,000
= 466,667
& 93,333
TAl=dA220 2Y 268,464 67,035 201,429
= 157,920
T 110,544
308 AXISHHMSOIN 268,464 67,035 201,429
= 157,920
= 110,544
01 AXISHNEZAERZ 268,464 67,035 201,429
OEAl= - Zgazae|el 29 268,464
= 157,920
== 110,544
AHEOHA Oels &4 520,000 390,000 130,000
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A= BENER A ME=sX0
M MY AEEEY
Gl MEIRAEA EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
s 400,000
< 120,000
403 X SHHMSAH=01H 520,000 390,000 130,000
= 400,000
< 120,000
01 AXEMA2EE 520,000 390,000 130,000
OXH et Jgls= &4 520,000
= 400,000
< 120,000
MBS = ZH(XR) 325,000 2,925,000 2,600,000
z 250,000
= 75,000
403 THXISHMSAH=01H 325,000 2,925,000 2,600,000
= 250,000
< 75,000
01 AXISHHA =2 & 325,000 2,925,000 22,600,000
odgend = 24 325,000
as 250,000
[ 75,000
MBS S(MEHA MEIA) =4 650,000 0 650,000
) 500,000
< 150,000
403 X EMSKH=01H 650,000 0 650,000
2l 500,000
< 150,000
01 AR A =2 £ 650,000 0 650,000
OMSUXNY =(MEAA AFR) X4 650,000
pJ 500,000
< 150,000
AL =2 AUHEE S22 21,725 21,725
201 er23y| 21,725 21,725
01 AtR2t2l] 21,725 21,725
OFAM =& - ALHEE X2 21,725
dEjerd shXl2tel 33,8%,049 16,301,685 22,593,364
= 21,446,466
= 7,040,740
[ 10,407,843
THE SRS 2L 220,584 218,400 2,184
= 157,560
< 63,024
403 XIS XH=01H 220,584 218,400 2,184
= 157,560
< 63,024




AR BHAEYR SA A=
Hu: AR ARANASA
Rl dEjEE AtX2el (SH9 H2)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
01 AXISHHA =22 & 220,584 218,400 2,184
O=8E SHaE=2L 220,584
= 157,560
< 63,024
ARISAE SHER 22 43,940 49,400 A5,460
= 33,800
= 10,140
403 AXIEHHSAH=201H 43,940 49,400 A5,460
= 33,800
= 10,140
01 AR A =2 £ 43,940 49,400 Ab,460
OMI=EXE SHEKXEL 43,940
= 33,800
s 10,140
SMH=2t HH2el 229,281 229,281 0
= 176,370
S 52,911
308 AtXIEHMSOIE 229,281 229,281 0
= 176,370
= 52,911
01 AXEHBSEES 229,281 229,281 0
OS2 34 - 2l 229,281
= 176,370
S 52,911
gty SIaat 173,680 173,680 0
= 133,600
[ 40,080
308 AXIHS0IA 173,680 173,680 0
= 133,600
= 40,080
01 HASHHBSEXS 173,680 173,680 0
Ozletd SHAL 173,680
= 133,600
= 40,080
SUZT SEAS AHAY 4,745,000 3,250,000 1,495,000
= 3,650,000
== 1,095,000
403 MR HHMSAH=01H 4,745,000 3,250,000 1,495,000
= 3,650,000
< 1,095,000
01 MXIHHA 22 4,745,000 3,250,000 1,495,000
O=4=TH SEAS AHAY 4,745,000
= 3,650,000




=R N A AE=XI
3 M AENEsY
el MEHErE AFXI2te EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH dEs Hnz=2
SErTArSRt T == B Ofl &k ==
| & 1,095,000
SMHESEAl ZEAY 1,950,000 0 1,950,000
= 1,500,000
< 450,000
403 MXISHHSIH=01H 1,950,000 0 1,950,000
= 1,500,000
< 450,000
01 XXISHX=EE 1,950,000 0 1,950,000
OSMHESZAl ZEA 1,950,000
= 1,500,000
< 450,000
HF=2 Y3 ZEAY 1,329,700 0 1,329,700
= 1,023,000
< 306,700
403 RIS K201 H 1,329,700 0 1,329,700
= 1,023,000
< 306,700
01 RXIEHRIA 2 2 2 1,329,700 0 1,329,700
OF=gdla ZHAY 1,329,700
= 1,023,000
< 306,700
SHESNSE =-(HEAY) 860,000 466,248 393,752
403 MR HHMSAHE01H 860,000 466,248 393,752
01 RIXIEHHIXt=EE 860,000 466,248 393,752
O=sMHaztMed =4 860,000
LAY EIZA Bt 15,714 15,714 0
= 11,000
< 4,714
201 2Bt ] 13,500 13,500 0
fas 9,450
< 4,050
01 AlR2telHl 13,500 13,500 0
oA EtgdEt =& 13,500
fas 9,450
< 4,050
202 Ot 2,214 2,214 0
= 1,550
< 664
01 2LHOY] 2,214 2,214 0
O AIY EtZ&E It 0] 2,214
= 1,550
< 664
STAIL (2 - MHEXFAE) 8,033,989 6,867,142 1,166,847




A= BENER A ME=sX0
M MY AEEEY
Rl dEjEE AtX2el EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
s 7,029,740
< 1,004,249
403 X SHHMSAH=01H 8,033,989 6,867,142 1,166,847
= 7,029,740
& 1,004,249
01 AXEMA2EE 8,033,989 6,867,142 1,166,847
LEAE (2 - AESXFAUE) 8,033,989
= 7,029,740
< 1,004,249
UTAE FNES(HMEAIY) 2,321,200 2,337,200 16,000
403 TR SHMSAH=01 ™ 2,321,200 2,337,200 16,000
01 XISHH A =2 2,321,200 2,337,200 16,000
SAE |2 2,321,200
AHALEHS Ol E 390,069 382,053 8,016
= 269,015
< 121,04
308 AHXIEMSOIE 390,069 382,053 8,016
= 269,015
[ 121,04
01 HAHHBSEEXS 390,069 382,053 8,016
O&FAER S ZH o 2 e 390,069
= 269,015
< 121,054
APALER 2 R4 XIS AEHZEA 546,000 354,900 191,100
= 420,000
< 126,000
308 XXM SO0l 546,000 354,900 191,100
= 420,000
< 126,000
01 XN BSELS 546,000 354,900 191,100
OOTAIE] 2l LHXIS AE AL 546,000
= 420,000
< 126,000
SRAMEH FH XIS EXE £X 49,200 43,200 6,000
403 THXI M SAH=01 ™ 49,200 43,200 6,000
01 AXSHM A 22 49,200 43,200 6,000
OLALERF XIS EXIE & X) 49,200
SHALEH THiZ &bt g4 8% 1,000 A104
201 er23 | 8% 1,000 A104
01 At2teltl 896 1,000 A104
OQLFAIEY THE & EHA S A 8%6
7.9.~19. 2 Lo SFAI(MEE) 17,985,796 0 17,985,7%




A= SEAER A 1 AE=sKI0
A ANE MENREHE
Rl dEjEE AtX2el EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
= 14,083, 121
= 3,902,675
403 XX SHHSKH=01A 17,985,79% 0 17,985,79%
= 14,083, 121
= 3,902,675
01 XIXISH =2 X 17,985,79% 0 17,985,79%
0O7.9.~19. &2 LlcH SFPAIS (L) 17,985,79%
= 14,083, 121
& 3,902,675
SAEESH 16,919,960 20,919,403 A3,999,443
= 875,748
s 16,044,212
ANHE ke He(MSALY) 5,662,500 7,800,000 22,137,500
403 XX SHHSKH=01A 5,662,500 7,800,000 22,137,500
01 AtXIEtH A2 £ 5,662,500 7,800,000 22,137,500
OXgs2dy 22 5,662,500
AAZ e S Mol CHEA 49,920 55,250 25,330
= 38,400
T 11,520
308 AXIHMSOIH 49,920 55,250 25,330
= 38,400
& 11,520
01 XN BAELS 49,920 55,250 25,330
OXAF 2 =gl HSAS 49,920
= 38,400
& 11,520
ARIYIE =AY TS (HEALY) 1,885,000 2,990,000 21,105,000
403 XX SHHMSK=01A 1,885,000 2,990,000 21,105,000
01 MtXIEtH 22 £ 1,885,000 2,990,000 21,105,000
QK EZ=AS 24 1,885,000
A=z T4 (HEAY) 2,340,000 3,133,000 A793,000
403 XX SHHSA=01A 2,340,000 3,133,000 A793,000
01 AR AH=2E £ 2,340,000 3,133,000 A793,000
OxRe= =4 2,340,000
XR2E= BSHNSAIY) 247,000 247,000
403 IHXISHMS 201 247,000 247,000
01 XISt AH22 = 247,000 247,000
Oxz9= 22 247,000
ARIESE PBRA(MEAIY) 300,000 0 300,000
403 XX SHHSK=01A 300,000 300,000
01 MtXIEtH 22 £ 300,000 300,000
Outg=d 22 300,000
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2-

X =
el sYEssd (St &)
4224 - B G9(EH) - AIRAY - BES of v A HIDEZ
LR FEE HE 2Y 24,300 27,000 A2,700
308 ARIMSOIE 24,300 27,000 N2,700
01 NASHHBLEERS 24,300 27,000 A2,700
O¢tEils S8 B2 29 24,300
LS 23 AL 25,000 45,000 20,000
307 212+01H 25,000 45,000 20,000
04 QIFSHAIAIH B X 25,000 45,000 20,000
Ot 2t Al 25,000
SMEMBIAE RO (A XIS XA 326,400 326,400 0
= 192,000
< 134,400
308 ARISHMSOIE 326,400 326,400 0
= 192,000
< 134,400
01 MASHBLEXRS 326,400 326,400 0
O MHIAE LI (AZ IR XIEZAL 326,400
= 192,000
< 134,400
A MHAERDI(EHEDH 548,546 536,052 12,4%
= 322,674
< 225,872
308 ARISHMSOIE 548,546 536,052 12,494
= 322,674
< 225,872
01 MBS EXS 548,546 536,052 12,49
Ot MHIAE 20l (a4 D) 548,546
= 322,674
< 225,872
AEMHAERO(RO=DF) 548,546 560,418 A11,872
= 322,674
< 225,872
308 ARISHMSOIH 548,546 560,418 A11,872
= 322,674
< 225,872
01 AX N B2 LS 548,546 560,418 A11,872
O MBI AER0I(K0tE1R) 548,546
= 322,674
< 225,872
SMENMBIAZRO(ZLSAXEAL (HEAY) 170,670 166,638 4,032
308 ARISMSOIE 170,670 166,638 4,032
01 AN BSEES 170,670 166,638 4,032
OUSMEIACRDI(Z2L SAXI AL 170,670




L ERNYR S A=

soess EERE)
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
ARIAHIA S0 (SMEf22| Q) (MEAIY) 77,578 75,745 1,833
308 AHXIHMSOIH 77,578 75,745 1,833
01 IXSHHBLERS 77,578 75,745 1,833
O NBIAT=R0I(=MEf22]21) 77,578
=2 TH2AC(NEAIY) 591,500 591,500
403 MXISHHMSAHE0IA 591,500 591,500
01 X SHH =2 E xR 591,500 591,500
Oudigd S4tE2 Jh| 591,500
Y S3t 2di2 =5 (HEAIY) 1,300,000 325,000 975,000
403 REXISHHIS K201 & 1,300,000 325,000 975,000
01 AXISHHAEER 1,300,000 325,000 975,000
OX<EEs sdi2 =4 1,300,000
OIFX|IA EFSZ2 XM (MEALY) 910,000 130,000 780,000
403 XtXISHMSAHE01 A 910,000 130,000 780,000
01 HXISHAE2ER 910,000 130,000 780,000
ORI=X4& &2 =4 910,000
=e|4h S 2Y - 22 /(HEANY) 208,000 208,000
308 AXIHMSOIH 208,000 208,000
01 RIXISHHBAELS 208,000 208,000
O=eldt SdZ 2¢ - 2l 208,000
=MENs KA 5,000 18,000 13,000
307 QIZt01 A 5,000 18,000 13,000
02 QIR AAIHEE R 5,000 18,000 213,000
O=HMens X 5,000
5 =olld s N 10,000 13,500 A3,500
307 212+01 A 10,000 13,500 A3,500
04 CIZISHAIAIRI E & 10,000 13,500 A3,500
O==E =olld AUz 10,000
SHEHY ZH(HEAIY) 1,495,000 0 1,495,000
403 XIS HMS K201 A 1,495,000 0 1,495,000
01 RXISHH =2 E X 1,495,000 0 1,495,000
SNEdE =4 1,495,000
ESUTA SUZ FHIAMG (MSANY) 195,000 0 195,000
403 REXISHHS K201 & 195,000 0 195,000
01 XN AE2ER 195,000 0 195,000
OS= 24 SHZ2 HHIALZE 195,000
A AMAS 18,171,335 17,303,341 867,994
= 13,687,846
= 4,483,489
ZME =4 2,908,060 4,333,401 A1,425,341
= 2,084,452
= 823,608
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A= SHEME= Xl
M AW MRANASH
el AEEEY (SH9 H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
403 XIXIHHSAH=0|A 2,908,060 4,333,401 A 1,425,341
= 2,084,452
< 823,608
01 RIXISH A2 R 2,908,060 4,333,401 N 1,425,341
OZHg =4 2,908,060
= 2,084,452
= 823,608
xEE SFY 3,518,678 4,156,646 637,968
= 3,518,678
206 =8| 3,518,678 4,156,646 637,968
= 3,518,678
01 =8I 3,518,678 4,156,646 637,968
Ooxgg E=532¢ 3,518,678
= 3,518,678
2LIFEXE 1,737,525 1,206,153 531,372
= 1,336,558
= 400,967
403 XEXISHHSAH=0|A 1,737,525 1,206,153 531,372
= 1,336,558
c 400,967
01 XX SHH A 22X 1,737,525 1,206, 153 531,372
O2Ls = 1,737,525
= 1,336,558
= 400,967
XNEES =& 541,244 500,650 40,594
= 416,341
& 124,903
403 XHXIE IS AH=0I™ 541,244 500,650 40,5%4
= 416,341
& 124,903
01 XX SHH A =2E X 541,244 500,650 40,594
OXNYES =¥ 541,244
= 416,341
< 124,903
Wt =4 195,000 194,610 390
= 150,000
& 45,000
403 XIS IS AH=0|™ 195,000 194,610 390
= 150,000
& 45,000
01 RIXISHMAE2E X 195,000 194,610 390
OUs=8l =4 195,000
= 150,000




A= BENER A AE=XI
M ZNE MRS
Rl MEEHAEE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmoETAreER e T == B Ofl &k ==
| & 45,000
LDAIE HUHSIALY 144,300 167,700 23,400
= 111,000
< 33,300
403 THXI M SAH=01H 144,300 167,700 123,400
= 111,000
< 33,300
01 XIS A =22 144,300 167,700 123,400
O AIE SlztAIE 144,300
= 111,000
[ 33,300
AHHHIOIR JtE KIAEA &4 1,950,000 260,000 1,690,000
= 1,500,000
< 450,000
403 AXIEHSAH=Z0I1H 1,950,000 260,000 1,690,000
= 1,500,000
< 450,000
01 AXESHM A 22 1,950,000 260,000 1,690,000
O&EH0IR I8 K& &4 1,950,000
= 1,500,000
< 450,000
25 s 7 12,550 13,500 2950
201 fer23y| 3,150 3,500 2350
03 A2 HHI 3,150 3,500 A350
OXg—, 822 5 7 3,150
206 M=zl 5,400 6,000 AB00
01 M= HI 5,400 6,000 2600
oRz=s #Y 5,400
301 LEIE NS 4,000 4,000
11 dALEEIXIZE S 4,000 4,000
OalZUEAL 2E(ZAIZ 7)) 4,000
2etE e S3t 542,500 423,320 119,180
= 310,000
[ 232,500
308 XXIEHHMSOIA 542,500 423,320 119,180
= 310,000
< 232,500
01 XN B EES 542,500 423,320 119,180
Ogut=4E3st 542,500
= 310,000
< 232,500
AMNSIISRIE 444,750 417,680 27,070
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A= SEAER A 1 AE=sKI0
A ANE MENREHE
el AEEEY (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
= 254,143
= 190,607
403 XX SHHSKH=01A 444,750 417,680 27,070
= 254,143
= 190,607
01 AtXIEtHAH22 £ 444,750 417,680 27,070
Ogut= JIBXIA 444,750
= 254,143
& 190,607
JAUASHEHIZAIL 467,329 413,368 53,961
= 267,045
& 200,284
403 XX SHHSKH=01A 467,329 413,368 53,961
= 267,045
= 200,284
01 AXIStH 22 £ 467,329 413,368 53,961
OYMSHEAZAIL 467,329
= 267,045
& 200,284
LA ESREIIBHAIA 221,622 109,642 111,980
= 126,641
& A,981
403 X HMS 201 221,622 109,642 111,980
= 126,641
& HA,981
01 Xt AH22 £ 221,622 109,642 111,980
Ogitg RSIIEHKIA 221,622
= 126,641
= 94,981
LS A B Y 733,250 747,425 214,175
= 419,000
& 314,250
403 X SHHS K201 733,250 747,425 A14,175
= 419,000
& 314,250
01 XEXISHHI A= E & 733,250 747,425 214,175
O SMAD|BIES 733,250
= 419,000
s 314,250
ArAr MAINEEOINIE KR 13,034 10,906 2,128
= 7,448
T 5,586
308 RXIHMSOIH 13,034 10,906 2,128
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= SEME= N
Hu: AR ARANASA
el AEEEY (SH9 H2)
AR .24 ZE . G230 - NIRAY - BES ol ke G o HlmS2

= 7,448
= 5,586

0 13,034 10,906 2,128
AFQFAE AH ALY 13,034
= 7,448
= 5,586

RS 300,000 454,000 A154,000
= 240,000
& 60,000

403 XHXI& 300,000 454,000 A154,000
= 240,000
& 60,000

01 XkX 300,000 454,000 A154,000
300,000
= 240,000
& 60,000

o 901,876 802,740 99,136
= 697,684
= 204,192

403 REXICHA| 901,876 802,740 99,136
= 697,684
& 204,192

01 XkX 901,876 802,740 99,136
901,876
= 697,684
& 204,192

4t 2,346,960 1,874,075 472,885
= 1,341,120
= 1,005,840

403 XtX 2,346,960 1,874,075 472,885
= 1,341,120
= 1,005,840

01 XX 2,346,960 1,874,075 472,885
2,346,960
= 1,341,120
& 1,005,840

ZEtH UAMS THHH 22 (ELIHEEH) 80,629 74,812 5,817
= 66,400
= 14,229

308 X 80,629 74,812 5,817
= 66,400
= 14,229

01 XX 80,629 74,812 5,817
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A= BENMER A ME=sX0
M HAPAZH|(MS =KD
s lIEE2ghl EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
[ 555
-S| 600
= 204
< 3%
=34 53,567 56,914 N3,347
Jl=3H] 53,567 56,914 23,347
201 er23 | 18,377 19,514 21,137
01 At2teltl 18,377 19,514 AT1,137
OJlE=3bl 7,498
OJl2=gl 10,879
202 04l 35,190 37,400 72,210
01 =LH0i 35,190 37,400 22,210
OJ1=044| 35,190
HRes(AE=sIn) 149,000 149,000 0
WERHHXI=E 149,000 149,000 0
WRHAHXI= 149,000 149,000 0
705 O~ &S 149,000 149,000 0
04 Al - SXISLIHL D202 01 AHAH 2 149,000 149,000 0
O THoH= 7 A (2020) 149,000




